Homogenous mixture

1.| Which ooe among the following 5.

y’wnund‘l

. Sugar
(b)  Air » "

1 mik—3colloidal solution
Tea

)

2. What is the total number of naturally

occurring elements ?

6.

1 nm-10 nm

Cell wall is absent in which one of the
following organisms ?

Bacteria
Diatom
Mushroom

(a)

(b)

y/ tsevos — Platyhelminthes CAnimal kingdom)

ela) , 114 Water goes up through xylem vessels in tall
V 94 trees. The process in plants and properties of
© 86 water that help in upward movement are ;
d) 82 Respiration and cohesion
3. Which one of the following statements ¢ (b) 'l'nns.pirulion pull,  cohesion  and
regarding acids i orrect ? ailkiesion
~1a)  Hydrochloric acid is present in the ()  Root p e, cohesion and adhesi

!

gastric juice secreted by the stomach.

«Ab)  Acetic umd is lho main constituent of
megar —> 5-8%, rest waﬂe
Oxalic acid is found in lnmannd -
(d)  Lemon and orange juices contain citvic

acid and ascorbic acid respectively.

E

(d) Transpiration and adhesion

Energy and nutrients flow from one trophic

level to another in an ecosystem. Which one of

the following statements correctly describes
the direction of flow of energy and nutrients in

Tartaric acid

‘Pure Substances

/o

tlement  Compounds
o Fe *Water

Yle)s  Oxalic acid is found in tamarind paste&

(d) Lemon and orange juices contain citrie

acid and ascorbic acid respectively,

ich one of the following is the correct
combination of organelles and their functions ?
Mitochondria ~ Respiration; Chloroplast
- Photosynthesis; Ribosome - Protein
Synthesis; Rough endoplasmic reticulum
- Transport of proteins
Mitochondria ~ Respiration; Chloroplast
~ Photosynthesis; Ribosome - Transport
of proteins; Rough  endoplasmic
reticulum - Protein synthesis
Mitochondria - Respiration; Chloroplast
Protein synthesis; Ribosome
Photosynthesis; Rough endoplasmic
reticulum — Transport of proteins
Mitochondria Photosynthesis;
Chloroplast — Respiration; Ribosome —

.ig)

(b)

We)

rd)

Protein synthesis; Rough endoplasmic|

reticulum - Transport of proteins

Mixture

|

Air

Energy and nutrients flow from one trophic
level to another in an ecosystem. Which one of
the following statements correctly describes
the direction of flow of energy and nutrients in
an ecosystem ?

(a)  Energy flow is cyclic and nutrient flow is
unidirectional.b(

Energy flow is unidirectional and
nutrient flow is cyclic.

Both energy and nutrient flow are
unidirectional.

) Both energy and nutrient flow cyclic.
ich one of the following is a
Cuscuta— ‘Parasite
Rhizopus —F| ungi Food
Spirogyra — Algae -
Grass “ ¥y

Cell wall absent

?
‘Depends on dead and
decaying matter for



correct. answer using the code given & RT 17 Fe F71 9@ T FE
below the lists:

1. Match List I with List II and select the ﬁz‘l a n % @y gAfed few sk
IR
List 1 List Il g7l el

(Place) (Feature) (#r7) (Fasran)
A. Mumbai 1. Queen of the ihind 3
Arabian Sea o] Poinhikidbial
B. fawmamem 2. WA w1 wEd@ @9 e
/ Visakhapatnam&. Biggest port of India o i A
—— . EE wEe
Chennai 3. Land-locked harbour D. #fw PR e —
D. Kochi 4. Oldest port the e

Eastern Coast Fz:
Code
(a) ,A-2, B-4, C-3, D-1
A-2, B-3, C-4, D-1

c) A-1, B-3, C-4, D-2
(d) A-1, B-4, C-3, D-2

(a) A-2,B-4,C-3,A-1
(b) A-2, B-3,C-4, A1
(c) A-1,B-3,C-4,A2
(d) A-1,B-4,C-3,A2

Deepest landlocked port  Queen of Arabian Sea
A o INDIA
s WA “. Monsa’{’fggvsﬁoﬂﬁ

LADARH

& KASHMIR

* Mgjor port: 13

Largest container o | Minor port: 200

port

UTTAR
RAJASTHAN PRADESH

s
s
&
£
g
& QDISHA

MAHARASHTRA

Kamarajar Port (12th major port), also a
private port



In Maharastra

/Ld) Vembanad Lake

Longest lake
Lagoon lake

2.

Which onf of the following is a crater aRd # Prfa@d # & i@ Hex sher

lake in Infiia ? a2 . .

-> Highest alkaline lake

VA Lonad ke /— (@) s g in Rajasthan

(b) Sambhar Lak (b) W Fiter

(c) Chilika Lake (c) RAfeFT sher

(d) dFaaTs sfier

* Lagoon lake, largest Brackish water lake in Odisha
«13t Ramsar site along with Keoladeo NP

Kerala

Other lakes:
Ashtamudi Lake

o Pulicat lake: Asia’s second largest lake in Andhra
Kolleru lake: Andhra

Maost saline lake: Lake Van in Turkey

* Dead Sea: lsrael Csalinity: 33.7%)

India: Lake Wular &———— * Largest freshwater lake in the world: Lake Superior (between

United States and Canada)

Perennial: year long water —> Himalayas

Rivers

l-—7 Kaveri river

Ephemeral: water stored only during —> Peninsular rivers

rainfall

Which one of the following factors

does not affect the distribution of

groundwater?

(a) Amount of precipitation.

(b) Rate of evaporation

(c) Ability of the ground surface to
allow water to infiltrate into the

groundwater system

{ istance from the sea.

Desert created «<——Continentality factor

o Distance from sea: effects Annual
range of temperature, diurnal range
of temperature

ff@e # & s FRF saee
(a3 aey) & Ao & wnfaa @@
FTar R ?

(a) @¥or S AT

(b) aTSHIFOT #r T

() sitAsTer e # S & IHa: FTeA
(3fwetae) ¥ T q-wae A awrar

(d) % & gf

daily range of
temperature

Far away from<——Sea
sea, less influence l

Moderating influence



The Constituti
Act of 1974 isfrelated to which one of
the following States?

(35th Amendment)

a) Mizora;

sikkid ——> Associated
il Statehood

d) Arunachal Pradesh

——>mountain pass: Nathula, Jelep La

Wi (35a1 wuwen) ftfama, 1974,
Frfafla & ¥ e Tow ¥ wEta § 7

a) forgia - . ikki
% Tri-junction of: rj,'”w;s::":’
¢) AmmaE China, Bhutan hdia ana Tibe .
. autonomous region
d) IS S and India

Formation of States

Festivals:

eSonam Lochhar TKICK  zTH —

*Saga Dawa
*Sakewa
*Losoong

3T = Andhra Pradesh
1 Nov 1456 = Full Fledged state

H = Mabarashtra , 1460

dbAale — L — Gujrat ) 1960

3

Yer =

al = Nagaland, 1963
T = Haryana , 1966

Himachal Pradesh, 1a¢e

%)' — Meghalaya , 1972

H = Manipur » 1972

(j,_é} - & = Tripura , 1472 Monasteries:

I - Gikkim , 1475

«Rumtek
* Phodong

1987 — ut .
;1%’_ 1 &oa/ Special Case

S6tCA - State-
hood

Chogyal M

3}}22 - Avunachal Dynasty
Pradesh, 1987

F'H'c—’loﬁ'

Mizoram , 1487

Associate State
Art 2A =35t (A, 1474

Complete Statehood —
36 CA,19T5



5.

Which one of the

Aﬂt-l’ast-the-?ost System<

LA

2. Proportional Representation

3. Mixed System

4. General Ticket

RS

STV

6.

Which one of the following is not a
fi ion of the C of India ?

To ensure participation of good
people in politics

(b) To guarantee a set of rights to
citizens. \'

(¢) To define the power of the rR

following best
describes the electoral system of India ?
-_—

PRRT & ¥ sla-ar ara A AT
JoTTelt T Fafew gofer FXar § 7

A. FaifF Aq ¥ e areh gome (FEE-
Ie-g-aee )

B. Jequifas sfafaftes

c. fafAa yomelt

D. AT fewe

LC President V. President

o tlection: Election commission of India
® Part XV
o Art 324-329

ffefaa # & sla-wr sva & R
FyEd Aty

(a) Torehfa & 3ed @t v smefigry
glafaa Far

(b) AR F FUFRF F & FH=AT
(¥2) A AR o

organs of g

(d) To create conditions for a just
society.

DPSP
R

(c) &R & Rffew 3ot i afFa Ft
HAT

(d) =gt wATer & fow Rufaat gl
Eaci

Which one of the following is the
correct sequence of layers as we move
from the Earth's surface upwards?

a) Troposphere, Stratosphere,
Th h h

%roposphere, Stratosphere,
Th h

b T

c) Th P
o

d) Stratosphere, Mesosphere,
Troposphere, Thermosphere

-756 § W H I TG §T Wl FT
:l%{c;m ﬁﬂgrw-m%?

T

a) &sHEE, FAAIIHSY, AET ALHS,
AT

b) &HST, FAAIIHSS, ACIHSA, AET
argrse

c) WET AHSW, AEAHSW, WHATIHAS,
[uc ey

d) §HRAYHSE, AEIHSH, GHS, aEd
IS



30-35K
Ozone
layer:
protects
from UV
rays

L2008C w EXOSPHERE 5 ; , 800 to 3000 km

-86,5 to 1200°C

Spaceship ‘ s Satellite

" THERMOSPHERE 8050 to 800 km

-2,5 to -86,5°C

Meteors Ieteorological

- - Lolhp Q

Radiosonde
A

15 to -56,5°C ——

4 Hot Air
T ?",‘ Balloon

i

R

Lapse rate Tquator: 18 Km
165m-1'C Poles: 8 Km
1Kkm=6.5C

Layers of the Atmosphere

Stratosphere
11 to 31 miles
-60°F to 5°F

Airplane

Troposphere
0 to 10 miles

62°F to -60°F m
W)

TVTTT

s

peof) Hot air
A balloon

{ 1/—"MESOSPHERE - “" ' 40-50 to 80-90 km

* STRATOSPHERE B  weomow

R O to 12-18 km

— ﬂ\‘ TROPOSPHERE N
- e AR

S e




forming factor?
g =

1) Parent material
—

2) Topography

3) Climate

Mluman habitation

Which

9, of the
about T

atrika is correct?
—
[ It promoted a systematic study of

India's past in the Bengali language.

one following

2. It promoted a systematic study of
India's past through Sanskrit
sources.

3. It promoted a systematic study of
India's past through Persian sources.

4. It promoted a systematic study of
India's past through Western sources.

Which one of the following is not a soil

feafaf@a # @ s 7o WF IR
md.§ 7 aamer—

1) So% |l

2) TAFa

3) Srerarg

4) AE AT T

Soil Horizons

]

O - Organic Layer
Humus

A - Topsoil
| Minerals with humus

~E - Eluviation Layer
_l Leached minerals & organic matter

~B - Subsoil
_| Deposited minerals & metal salts

-C - Parent Rock
Partly weathered rock

R - Bedrock
_l Unweathered parent rock

araaite o & v & Rl &
¥ Fla-wr FuT T E ?

1. $80 FFem WO H Wl 6RaE F
qafeyd Faas F Weared R |

2. 38A WFd WAl F AeIH § 9T
ARG & cHaRYd  WeIdd H
wrewfea fFam |

3. 3 BREN Wal F AIAR ¥ W
ARG & cHafeud  WeIAS #

4. 3H URTH Wal F ATEIH F WA
HRG ¥ cHafeud  WeIAd H
Arewrfea fram




10- Which of the given statements is/are
correct with respect to NAFED?
—_—

1) NAFED is registered under the
Multi-State Co-operative Societies
Act.

2) It was set up with the objectwe of

ive

of agncultural produce to beneﬁt
fanners.

3) It was established in 1956.
I) SOnly 2

Only 1&2
1II) 1,283

V) Only 2&3 1958

11.

Which one of the fnuowin@lds is
not located in Jharkhand?

A) Jharia
B) Ramgarh
C) Deogarh

Umaria

Madhya Pradesh

v

NAFED & ey & v 7w suai & &
e ad wE 2

1) NAFED - WERRT W
s ;—gaza ool #1

2)3‘«#mﬁr«wﬂaﬂmq§aﬁ$
399 & WEPR R &
azm F 30T & 7E oA

3)3«#[1:11\1:71956#@&1

# ¥ Flaw s &7

Gy
grEs & Rya agt ¥ 7

A. @&
B. THIG
C. gaTe
D. 3ARAT

« Sedimentary rock

* Black gold

» Carbon is high: best coal
o Sulphur and moisture content less: best coal

* Anthracite
« ‘Bituminous

o Lignite —> Tamil Nadu, however less in
Peat India CGimported from

abroad)

Other coalfields in Jharkhand:
*Bokaro
* Dhanbad
e Giridih
« Karanpura
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~

MAJOR COALFIELDS IN INDIA
. RANIGAN)

JHARIA

EAST BOKARD AND W
PENCH-KANHAN, TAWA VALLEY
SUNGRAULI

JHARIA

EAST BOKARO AND WEST BOKARD
7

TALCHER, JHARSUGUDA
CHANDA-WARDHA GODAVARI VALLEY

NEYVELI

- BITUMINOUS & SUB-BITUMINOUS

[] uewecon

Max. coal reserves in India: Jharkhand
Topmost producer of Iron and Bauxite: Odisha

ﬁ*‘;" DISTRIBUTION MAP OF INDIA -

-4

d

->Makum, Lakhimpur

L% —> Tertiary coal

Namchik Namphuk
coalfield

—> Korba, Hasdeo

1849: Dadoba Pandurang+Durgaram Pandoli

The t:uunders of the Paramhaﬁ‘g # ToRe wagw Asa &

dali founded in Mah

believed in which one of the following?

1) Social distancing along caste lines. =\l 1) s1fy ¥ 4R W FEITF (ﬁ @/
———"
2) Glorification of caste system. -ve

3) Forbidding widow remarriage
-ve

T & ¥ frad Rraw
Fa T ?

2) Snfa war &1 AfgAHST
3) Rrerar qafdare #1 forder

ne God and in breaking caste rules 4) F RT F AS A dur Fifa GrmwAr
+ve N

. Prarthana Samgj: Atmaram Pandurang
« 1867: MG Ranade also joined it

* Dev Samaj: 1886, Shiv Narayan Agnihotri

|

Manav Dharmasabha, 1844



Subscribe [ Parmar SSC

13. Which one of the following
H ishtahars
issued during the Revolt of 1857 is

statements about the

correct?

‘hey glorified the co-existence of
different communities under the
\ Mughal Empire.

) They glorified the message of Islam.

d) They glorified the role of Queen

Victoria. K

14.

Which one of the following is not a
specified Sub-Mission of the National
Livestock Mission ?

estocm /==

(d) They glorified the Muslim rule in India

For — All SSC EXAMS

FUT WA & ?
a) 3AH ARG A AREH WA FY
AfgAHTET FFIT T ar

b) IAH AT & e Rt
Wﬂw—%ﬁuﬁﬂmﬁa
foram amr ar |

c) 39H FEAH F WU F ARGAART
o arar ot |

d) 393 i REaRan fr qfaw &
Afgamfza frar mar o |

FefaR@a & ¥ Flaar wdw e
e &1 Rfafgse su-fee a8 ¥ 2

(c) Fodder and feed development

(d) Skill development, technology
transfer and extension

(a) Livestock development a) e Ecan
Pig d in north- b) a9 & PR e
region

c) rT 3R MR RwEm
d) sl RFEm s gEaaor st
fFar

Always endothermic

1857 @ #@ & gk o Rew mw |
W & AR # e # @ S |

15.

Which one of the following comgounds
is used in ‘black and [white'
photography?

(a) AgF

\}/““’ — decomposition rkn

(c) Agcl

() Ag;S0,

W@W(?sﬁrﬁa‘)m
# famfaf@a & ¥ frw difs &1 s
fRaT Smar € 7

(a) AgF

(b) AgBr

(c) AgCl

(d) Ag;SO,

2AgBr —>2Ag+Br,

» 2Pb(NO),—> 2Pb0 + 4NQ,+ 0,

Brown fumes

+ N0 (nitrous oxide)-> Laughing gas

Diatomic

o Combination rkn: always exothermic
Ca0 + H,0 —> CaCOH), + CO,~>CaCO



16.

Shoots of plant show

toba c(-’ nghf
(a) Negatively phototropic

(b) Positively chemotropic

(c) Positively hydrotropic

Water

Mﬂegatively eotropic

Gravity

Plant Movement

Types

1) Nastic Movement
* Not growth related

upward
movement and it can be designated

el & We e Ay weiia wa §
A T  RfEe & F e
FNRT Bear &1 wwar ¥ ?

(a) FOTCHS ST

chemicalg ™ T Tt

(c) YRS SraTact
(d) AT ITearadt

“touch me not’ plant

eg: movement in response to touch: Thigmonastic Movement

2) Tropic Movement

* Growth related

Greotropism Movement

» Movement in response to Gravity

Positive
Geotropism

Negative
Geotropism



Which one of the following statements
about the process of photosynthesis is
correct?

a) Chemical energy is converted into
light energy.

b) Carbon dioxide is oxidised to form
carbohydrate.

c) Water molecule splits into hydrogen
and oxygen.

ight energy is directly used to split
water.

yarr-EeAwer A ufkwr % W #
frfafad & & sla-ar Fua @ § 2

a) TERfAE Fot yHRr Fo & oREfia
&t §1

b) FElgEEc @ F T FET
SEHTFATSS HiFlga gar ¥

c)ﬁ#;gmg‘mwwm#
RsTa g |

d) I F RwFd =@ F [AE g Far
w1 @Y 39T fRar S #1

Light energy to Chemical energy

« Plants make food through
photosynthesis
Requires:
€02
Water
Sunlight Mg

Chlorophyll (green color)

|

Chloroplast
Plastids

Cell of a plant

6C0, +

reacflon

sunhghf

guard cells
Stomata .
\ oxygen
carbon
dioxide-/
carbohydrates
0.036%

» thylakoids contain a pigment called chlorophyll,
that absorbs light

H,,_O + 60
oxggen is released during
photosynthesis

6H,0 3
cholorophgll
/ \ Glucose
_Aark Light L—) Part of Chloro Iasf

rcac’non
Site: stroma Snfe. rana 'PMSﬂdS
In thylakoids
« Carotenoids absorb sunlight
Y
Calvin cycle Clight-
independent

reaction)/C3 cycle



18.

Which one of the] following pairs of

elements at room AT dHAE

temperature and af normal pressure? 7
a) Gallium and Brosthine a) AMae 3R T
Mercury and Bromine
b) 9Rg AR s
c) Gallium and Mercury
d) Gallium and Caesium c) e ik uRg

Liquid in room temperature

\4 Melts in our palm

Only liquid metal

fmafaf@a & ¥ aw@l &1 s\

Halogens on Periodic Table

only liquid non-metal, belongs to halogen

?’H
AT e W g9

Valency: 1
Atomicity: 2

d) Ao 3 e

Chalcogens

iy 18

1 .28 2 13 14 15 Ge) 17 ¢

z e
, u e Halogens ol ¢ nloff ¢ fre
3 [«] Ar

5 6 7 8 9 10 11 12 o
4 1 v Cr Mn Fe Co 3 Ni Cu Zn ‘Gl Ge As i Se Br Kr sfarch defecf'on
5 "woll Mol Tcll Rull Rall Pdll gl call 1l sl sofl Te Xe (b'ue black co‘our)
6 Ta w RE‘ 95 1>I' Pt Au 1 Hg ) mn ] Pb Bi Po At Rn
7 ob sg Bh Hs Mt Ds Rg cn nn B Mc wf s fog
Lanthanides Ce ’ Pr Nd Pm kSm Eu .Gd T Dy Ho Er Tm ‘ Yb Lu
Actinides Th Pa u Np Pu Am Cm Bk cf Es i ‘Fm Md ¥ No ‘ Lr

Archimedes Principle

Buoyaﬁ zisalan

19
SeoaTaF F#4T ¢ ?
1) upward pressure 1) ﬂﬁ'ﬂ;@"r cy
2) downward pressure 2) e g
3) downward force 3) 3“1‘731’@! T
%ward force Unlf Pasca' 4) seaad a7
Unit: Newton lce
3
1 T

Archimedes' Principle

Ib

Archimedes' Principle
the buoyant force is equal to
the weight of the displaced water
b

A 31b of
— water

—> Water level same



20.

A uniform motion of a car along a | et §_’rﬁ7l' Ty W At FR A wmEA
circular path experiences afr # w2 wfew g # ?
1) a change in speed due to a change 1) R #r ﬂﬁ N fr # aRacm &
in its direction of motion. FROT w1l # TR
%change in velocity due to a 2) F_# ﬂﬁ #wr # aRadw &
hange in its direction of . FROT 37 F TRETT

3) ﬂLchzngi: i;;n:?mex.ltur:fdue to no 3) g :; ;ﬁ Ll E: ;' F§ g
4) a constant momentum due to a 4) W @ afq & R & aftadw &
hange in its direction of i FRoOT FUX waT

Uniform: speed (scalar

quantity) centripetal force
v
A= —
¢ r
Centripetal . )
acceleration Direction changing
in each point, hence
velocity is not
constant
Velocity across tangent
and acceleration
towards center
/Topmosf producer of jute
21.

Consider the follo

g statements : R Al W RER #1
1. The value of Inflo-Sri Lanka trade has | 1. oo g3F & ART-NeHT AR 1

consistently ificreased in the last eI AR qGT #
_~decade.

V Textile and fextile articles" 2. ¥R 3R aFaRY F €T AR

constitute infimportant item of trade Ageaqol awgat & "wusT AR aw
between India and Bangladesh. FTEE afHe g

orasﬂca“y‘! In the last five years, Nepal haf been | 3. Roer uiw auf & Jurer gfaor o &

the largest trading partner of Ihdia in AT FT FIH q3T ARG WP @I
South Asia. 2l

Which of the statpments given above|is/are

correct ? L W T v Fyat # F S qvd wd @8
a) A and 2 only S a) m 13k 2
o b 2
A4 topmost | o sew 5
d) 1,2 and 3 d) 1,233
exporter of jute

Extreme keyword



ﬂ The Agreement was signed by
will go into effect in 2017.

22, With to the Ag; at the UNFCCC Meeting in Paris in
2015, which of the following statements is/are correct?

ghber countries of the UN and it

‘he Agreement aims to limit the greenhouse gas emissions so that the
rise in ge global p by the end of this century does not
exceed 2 degree Celsius or even 1.5 degree Celsius above pre-industrial

a) 1 and 3 only
2 only

¢) 2 and 3 only

d) 1,2 and 3

Select the correct answer using the code given bglow.

levels.

Developed i k ledged their onsibility in
global i and itted to d $ 1000 billion|a year from
2020 to help developing countries to cope wii ate cljange

Fact/Data
$100

oNo collateral needed

/“’. It is of short duration

23. Which of the following statements is/ e fw & ey F fefafa #F @ ai |

INCORRECT with regard to micx
finance?
—_—

1) MFIs are those organizations, other
than banks, that provide micro
financial services.

%Fls are banks that provide micro
financial services.

3) Microfi invel ——
loans to micro, small and medium
enterprises.

4) The RBI is the regulatory body for
Micro Finance Institutions. (MFIs)

W HY Toa 87

1) TATRIE A F o ¥ G ¢,
i gewr Relw Faw wqw @

2) THUGITE @ dF § o wew R
Fa¢ v FA B

:s)msaﬂwrm# qew, g iR awaw
3egAT F acwa:rmmrma H

4) FdmE @aw Ra @ewEw F Rw
RS T} (THOHITE)

24' NDP at FC plus net factor income
from abroad is equalto

1) NNP at MP

V(NNP at FC

3) GDP at FC

4) GNP at MP

Gross ———> Net

mwmﬁmﬁw#a@;mﬁi
I F o B 1

1) NNP at MP
2) NNP at FC
3) GDP at FC

4) GNP at MP

NNP = GNP->Depression
Fc Fc

Depreciation

NN1:C= N'D'l; E NFIA

Domestic ——> National NNP = NNR,z Net indirect taxes
Net factor income

from abroad (NFIA)

GNP + NFIA

ND?P = GDP - depreciation
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* Which of the following pairs of crop
and product is/are correctly
matched?

1. Food crop : Ragi
2. Cash crop : Jute
3. Plantation crop : Coconut

Select the correct answer using the
code given below:

a) 1 only
b) 2 and 3 only

1,2and 3

d) 3 only




